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                           Illustration: “ban on nuclear weapons testing”
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Russia has      |                     Probably                Russia would 

violated 50     |                     |                              violate the 
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           Past violations           The ban on nuclear 

           are symptomatic        weapons testing is 

           of probable future      significantly different 
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             Other nations that had such 

             a record of violations continued such 

             action; Expert X states that nations that 

             have been chronic violators nearly always 

             continue such acts; etc.

If using this model, each part of the model would be evident.  The Rebuttal could operate as the potential solution.  The other parts of the argument would constitute the problem.

Theory of Argumentation, from Stephen Toulmin’s, The Uses of Argument. 
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